3x2 — 5x — 12
a-3 - (-9)# m,.,; X-3)3x +4)
b=-5 — am .
C

[/ G
= b
c--1 36-117 =-7¢b

c) x>+ 9x+ 18 l O resl roo'l's;

d) 2x* + 11x — 21



6.) (15 pts total, 7.5 pts each) Solve using the Quadratic Equation.

X2 =3x +2
-3x -2 -L‘-‘J b*-Yec
-3x -2 —_——
x*-3x-2:=0 -
a: | -(-3)2 |3 Wiy
b- ‘3 2( ()
C-2 3t 94 9

—

’z-

\aifﬁ

e

r=

b) 3x — 5x = —12

7.) (15 pts total, 7.5 pts each) Place each equation in vertex form by completing the square.
Please show all your work.

a) x> =5x+ 14



Comp([tl tlu sgueve — vestex

fm

v
2x2+6x—7=0 \-)2010“"

—
~ 2) fockor ook o

(Z/f* ‘2) e ?-)(_b_)'- add in
z $uL 0\01.

@xz—& 3x)-1=0
) T 1 4) czw«-md‘
CIE U e

q
2(K" 43¢ +1)-1-7

8.) (20 pts total, 10 pts each) Graph
and the vertex.

a) x> +6x+9

Scenarto ¥

Scenasio *1
Zas0$ = Verlex
~b*lbEYac ys
" 'd_sL
pye — 2z
~CW)HCypyes) YLl
——e——— 2

20 Ueb . g

ly. Plot all roots, intercepts,

6+(-):=4:2
2
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